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ENGLISH  - 40 

(Grammar-20) 

1) Tick the correct option to complete the following sentences:                           1X8=8 

 

i) Plural form of                                                     ‘Mouse’ is –  

        

    a) Mouses [   ]         b) Mice [   ]        c) Mices [   ]        d) None of these [   ] 

 

ii) The verb after ‘they’ will be- 

    a) is [   ]    b) am [   ]   c) being [   ]   d) are [   ] 

 

iii) ‘He is a boy.’ – The underlined word in the sentence is a – 

         a) Noun [   ]     b) Adverb [   ]    c) Pronoun [   ]   d) Adjective [   ] 

 

iv) The past form of the verb ‘see’ is – 

         a) Seen [   ]   b) Saw [   ]      c) seed [   ]    d) None of these [   ] 

 

v) The feminine gender of the word  is – 

 

         a) Mam [   ]      b) Madam[   ]   c) Mistress [   ]        d) None [   ] 

 

vi) ‘It is __________university’. ’the article in the blank will be – 

 

           a) a [   ]         b) an [   ]              c) the  [   ]         d) None [   ] 

 

vii) ‘I shall go to school’. The sentence is written in –  

            a) Present Tense [   ]      b) Past Tense [   ]        c) Perfect Tense [   ]        d) Future Tense [   ] 

 

viii) ‘Look __________the The preposition in the blank will be - 

        

           

           a) at [   ]          b) by [   ]   c) to [   ]    d) None [   ] 

 

 

2). Fill in the blanks with the correct verbs:                                                   1x4 = 4 

    i) Neha _______________________________________ absent yesterday. 

    ii) All the  students ________________________________ present today. 

   iii) Bubun never ________________________________________ (talk) lie. 

  iv) Tomorrow _________________            ______________my  birthday. 
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 3. Do as directed:                                           2x4=8 

 i)                                          __________________ kind of Noun  ?      

 

Ans.___________________________.            

        

 ii) What type of sentence  is ‘open the door’ ?   

 Ans:- ________________________________________________  

 iii) Put  punctuation  marks to the sentence & rewrite–  ‘rice and pulse  sell very cheap’  

 Ans:- ________________________________________________ 

 iv) Write an example                                          of verb .  

Ans:__________________________________________   

(Vocabulary-10) 

4) A. Choose the correct Answer :--                                                                                            1× 4=4                                                                        

    i) The picture is – 

 

             (a)potato                       (b) papaiya                                (c)gourd                       (d) brinjal 

    (ii) The fruit  that quench thirst is – 

             (a)banana                    (b)terrics                                    (c)water melon                        (d)plum 

    (iii) To carry water___________________  is  used . 

             (a)bucket                     (b)broom                                   (c)dish                                       (d)bowl 

   (iv) The animal called ‘The Ship of desert’ is  . 

             (a)Ship                         (b)Dog                                  (c)Camel                                      (d)Horse 

B.  Fill in the blanks with the correct words :-                             1x2 =2 

   (i) ERTACHE :_____________________________________________ 

   (ii) EEDR :_______________________________________________ 

C. Do as directed                              2x2=4 

    (i) The babies of ‘pig’ is called ?                                                                                                                             

   Ans.____________________________________________________ 

The  picture is - 
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   (ii) ‘The cry of owl’ is called ?    

                                                                                                                                                                                           

      Ans._____________________________________________________ 

(Spoken Expression-10) 

 A) Tick the correct answer :--                                           1x4=4                                                                                             

  (i) In the morning ___________ is used :- 

           (a)Good morning!         (b) Morning!          (c)Very morning !           (d) Morning to you!   

 (ii)  For  permission ___________used-                                                

           (a) Sir, I will come                                                               (b) May I come in sir /madam?             

           ( c) Hello may come!                                                           (d)  I am coming Sir. 

(iii)   For __________ used?                                                                                     

          

           (a) How much  (b) How many           (c) So many        (d) How muches 

iv) Thank you =___________? 

            (a) Welcome!                (b) Good bye!         

            (c) Morning!             (d) None  

B.  Fill in the blanks with the correct answer :-                            1x2 =2 

 (i) _______________________ ! Amal.( to talk over phone) 

(ii) ‘Good __________________________’ (for night wish) 

C. Do as directed                             2x2=4 

   i) Wish your friend on his birthday 

   Ans.________________________________________________________________________ 

  (ii) Wish your miss in the Evening.  

   Ans._________________________________________________________________________ 
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GENERAL SCIENCE - 20                                                                                                                     

(1)সঠিক উত্তরটি নিবোচি কর্রা :                                                                                 1x6=6 

   i) ঩ৃরথফীয উ঩গ্রর঴য নোভ কী ? 

           (a) ঳ূময                     (b) চোাঁদ                       (c) তোযো                          (d) রকোরনোটিই নয় 

 ii)রনম্নরররখত রকোন পরটিরক ফহুফীরজ ফরো ঴য় ? 

             (a) আভ                          (b) কোাঁঠোর                      (c) জোভ               (d) রকোরনোটিই নয় 

 iii)রকোন ঩োরখরক দরজয ঩োরখ ফরো ঴য় ? 

       (a)কোক                       (b) ঱কুন                      (c)ফোফুই               (d) কোঠরঠোকযো 

 iv)দদনরিন জীফরন একজন প্রোপ্তফয়স্ক ররোরকয কত ররটোয জর ঩োন কযো উরচত ? 

              (a)১-২ ররটোয          (b)২-৩   ররটোয               (c) ৩-৪   ররটোয                 (d) রকোরনোটিই নয় 

 v) ভোটিরক কয় বোরগ বোগ কযো মোয়?  

            (a)২                            (b)৩                                  (c) ৪                                 (d) রকোরনোটিই নয় 

 vi)঱ীত ঋতুয ঩য রকোন ঋতুয আগভন ঘরট ? 

           (a)ফলযো                           (b)঱যৎ                              (c) র঴ভন্ত                           (d) রকোরনোটিই নয় 

2. অনি সংর্ের্ে প্রশ্নগুনলর উত্তর দাও: -                                                                       1X6=6 

 a)রোর ভোটিয অ঩য নোভ কী ? 

   Ans:- 

  b) চোাঁরদয আররোয উৎ঳ কী ? 

  Ans:- 

 c)আভোরদয ঱যীরয কয়টি রকডরন ফতয ভোন ? 

  Ans:- 

 d)রভৌভোরছ উ঩কোযী/অ঩কোযী ঩তঙ্গ ? 

  Ans:- 
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 e)রদোর ঩ূরণযভো রকোন ঋতুরত ঴য় ? 

  Ans:- 

 f)একটি ঩রযরফ঱ ফোন্ধফ ঱রিয নোভ উরেখ কয I 

  Ans:- 

3. সংর্ের্ে প্রশ্নগুনলর  উত্তর দাও: -                                                                             2X4=8 

 a) ঋতু কয় প্রকোয ? কী ? কী ? 

   Ans :  

 

  b) ভোনফ রদর঴য রকোন অঙ্গটি শ্বো঳ প্রশ্বোর঳ ঳ো঴োময করয ?   

  Ans :- 

  c) আকোর঱য যং কী ? 

   Ans :- 

 

  d) যোরতয আকোর঱ আভযো কী কী রদখরত ঩োই ?  
 
  Ans :- 

 
 
 
 
 
 

MATHEMATICS - 40 

A) সঠিক উত্তরটি নিবোচি কর্রা :                                                                             1×14=14 

  1) ২ঘন্টো = ………………….রভরনট ? 

             (a)১২০  রভরনট             (b)৬০ রভরনট                    (c) ৫০ রভরনট                  (d) )৪০ রভরনট 

 2)ফছরযয ঳প্তভতভ ভোর঳য নোভ কী ? 

     (a)জরুোই        (b) আগষ্ট         (c)র঳রেম্বয        (d)জনু  
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 3)রছোরটো ফো ফে রচহ্ণ রদরয় (< ফো >)খোরর ঘয ঩ূযণ করযো I 

         ৬৭        ৯৯ 

     (a)<          (b)>            (c)≤              (d)≥ 

 4) রছোরটো রথরক ফে র঴঳োরফ ঳োজোও – ৭৯, ৯৯, ৫৯, ১৯ 

     (a)১৯,৬৯, ৯৯,৭৯                        (b) ১৯, ৬৯, ৭৯, ৯৯    

     (c)১৯, ৫৯, ৭৯, ৯৯                      (d)৯১, ৭৯, ৬৯, ১৯ 

 5)৪৯ রথরক ৪২ :                   কভ ৷                    

    (a)৬          (b)৭            (c)৮             (d)৯ 

 6) ২৬৮৫ – এয ঱তরকয ঘরযয অঙ্কটি ঴র - 

    (a)৬          (b)৮           (c)২              (d)৫ 

 7) ১০০ এয অরধযক ঴ররো –  

    (a)১০          (b)৫০          (c)৫              (d)২৫ 

 8) ৪২১ ঳ংখযোটিরত  ২ – এয স্থোনীয় ভোন ঴রফ- 

    (a)২০০         (b)৪০০          (c)২০             (d)২ 

 9)২৩৫ + ১২১ =  ?  

    (a)৩৬৬        (b)৩৫১        (c)৩৫৬         (d)৩৬১  

 10)         x ৮ =৪৮ 

     (a)৭        (b)৯          (c)৩                (d)৬ 

 11)১ ঩ক্ষ = ……… রদন 

     (a)১৫ রদন     (b) ৩০  রদন      (c) ৭   রদন      (d) রকোরনোটিই নয় 

 12)একটি ২০ টোকোয  রনোট বোরঙরয় কয়টি ২ টোকোয রনোট ঩োওয়ো মোরফ ? 

     (a)১০ টি       (b)১৫টি      (c)৫ টি             (d) রকোরনোটিই নয় 

 13) ৬+৬+৬ = ৬ ×                 
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      (a) ১        (b)২         (c)৩               (d)৪        

 14) 

 

 
 
   ছরফটিরত কয়টি ফৃত্ত ফতয ভোন ? 

 (a)৩ টি         (b)৪ টি          (c)৫ টি             (d) ৬ টি 

B)নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও: -                                                                        2X7=14 

 1) ৬২১ ঳ংখযোটিরক স্থোনীয় ভোরনয ঳ো঴োরময রফশ্ললণ কয ৷ 

 

 2) ২৫৭  ঳ংখযোটিয ঱তক ও একরকয অঙ্ক স্থোন রফরনভয় করয রররখো ৷ 

 

 
 
 3)৩0২ + ১২৫ + ২৪৬ = ……………….. 
 
 4)       ৪ ২  ৫ 
           *  * 
 

 
 5) 
 
 

 
 

 
 রচরে কয়টি রেবুজ যরয়রছ ? 

 
 উ:- 
 
  6) নয় ঴োজোয রতনর঱ো এক ঳ংখযোটিরক অরঙ্ক প্রকো঱ কয ৷ 
 
 উ:- 
 
 

 
 

 

 ৩ ৪   ৪ 

 

 

− 
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 7)চোয অরঙ্কয ফৃ঴ত্তভ ঳ংখযোটি রথরক চোয অরঙ্কয কু্ষদ্রতভ ঳ংখযো ফোদ রদরর কত থোকরফ ? 
 

 উ:- 
 
 
C) নিম্ননলনিি প্রশ্নগুনলর উত্তর দাও: -                                                                      3X4=12 

  1)একজন কৃলক ৩০ টোকোয ঱োক, ৪৫ টোকোয রফগুন এফং ৯০ টোকোয ভটযশুটি রফরি কযররো৷ রতরন   
    রভোট কত টোকো আয় কযররন  ? 
  
 

 

  2)একটি ফোগোরন প্ররতযকটি ঳ু঩োরয গোরছ ১০২ টি করয ঳ু঩োরয পরররছ ৷ ফোগোনটিয ৪ টি গোরছ রভোট     
   কটি ঳ু঩োরয যরয়রছ ? 
 

 

 

  3) ৪ x ৫ =    এয  ৫ গুন=     ঩োাঁচফোয =    +    +    +    +    =  ?   ? 

 

  4) ৩৯৫ ÷ ৫ = ? 

 

              

 
 
 

     

   For Rough Use 
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